Practice Cell Potential Problems – Chemistry 1   Name ________________________________

1. What is Eo for the following?
Sn2+ + H+ => Sn4+ + H2
2. What is Eo for the following?
H2O2 + Ag+ => O2 + Ag


3. What is Eo for the following?
Ag + Sn4+ => Ag+ + Sn2+


4. What is Eo for the following?
SO2 + Fe3+ => SO42- + Fe2+


5. What is Eo for the following?
Al + O2 => Al3+ + H2O


6.  What is Eo for the following?
Cr3+ + NO3- => Cr2O72- + NO


7.  What is Eo for the following?
Cr2+ + Fe3+ => Cr3+ + Fe2+


8.  What is Eo for the following?
SO2 + Zn2+ => SO42- + Zn


